Legend :   SYMBOL 183 \f "Symbol" 1. =Opening bids    SYMBOL 183 \f "Symbol" 2. = Tick (SYMBOL 254 \f "Wingdings") if Artificial   SYMBOL 183 \f "Symbol" 3. = minimum no of cards    SYMBOL 183 \f "Symbol" 4. = Negative doubles thru... 


	1.
	2.
	3.
	4.
	DESCRIPTION 
	RESPONSES
	SUBSEQUENT ACTION 
	Modification over

competition and

with passed hands

	1SYMBOL 167 \f "Symbol"
	
	2
	4SYMBOL 169 \f "Symbol"
	11+HCP

( 5cl and 5Sp weak or strong)
	2 ( - Positive -3(= PRE
2SYMBOL 169 \f "Symbol"/SYMBOL 170 \f "Symbol" = Strong ; 3SYMBOL 168 \f "Symbol"/♥/(= Splinter
	Walsh; Cachalot
	Cachalot SS6

	1SYMBOL 168 \f "Symbol"
	
	4
	4SYMBOL 169 \f "Symbol"
	11+HCP 
	2(=Positive,;3(=PRE

2SYMBOL 169 \f "Symbol"/SYMBOL 170 \f "Symbol" = Strong); 3♥/(= Splinter
	Walsh; Cachalot
	Cachalot SS6

	1SYMBOL 169 \f "Symbol"
	
	5*
	4SYMBOL 168 \f "Symbol"
	10+HCP


	Single raise – 3 cards (7/9)1NT=F1;2/1GF;Jacoby 2 NT= GF;  Bergen (SS3);Splinter( 4SYMBOL 167 \f "Symbol"/SYMBOL 168 \f "Symbol"/3()
	After 2/1;2 NT=12/14 or 18/19;

3 NT=15/17;help suit game try, Check Back (SS4) Reverse Drury ( SS5)
	  Bergen


	1SYMBOL 170 \f "Symbol"
	
	5*
	4SYMBOL 168 \f "Symbol"
	10+HCP
	Same but 4 H to play
	Same 
	  Bergen

	1 NT
	
	
	4SYMBOL 168 \f "Symbol"
	14/17 (possible5M,6 m)
	Stayman (SS7);TEXAS,;2( and 2nt – (SS 8)3SYMBOL 167 \f "Symbol"/SYMBOL 168 \f "Symbol"= invitation
3♥/(=GF-Slam Try ;4SYMBOL 167 \f "Symbol" = Gerber; 4SYMBOL 168 \f "Symbol" = majors( weak);4 H or Sp  to play; 4NT = invitational.
	After transfer opener bid 2Nt with max 3 cards, double raise with 4 cards and 3NT with 4 cards max

	SS11
Lebensohl

	2SYMBOL 167 \f "Symbol"
	SYMBOL 254 \f "Wingdings"
	0
	
	GF;24 + or any GF
	2(=neg;2 NT=8+or 2 kings ; Aces CESAR;

DOPI
	2NT=24+bal hand ( then same is 2N opening 
	SS9

	2SYMBOL 168 \f "Symbol"
	SYMBOL 254 \f "Wingdings"
	0
	
	Multicolor (weak M,22-23 bal 
	 2 ♥/(=Pass or correct;2 NT= relay;3 m =F1 ;  SS11 
	2NT-3(=Min(♥);3(=Min(() ;3♥ =Max(() ;3(=Max(♥) 
	

	2SYMBOL 169 \f "Symbol"
	
	5
	4(
	19+ HCP unicolor or 4/5 loosers
	2NT=Negative;3♥=Fit,Strong,w/1+aces;

3 Suit=Natural,Positive; 4♥=Fit,Strong without aces;

3NT=BAL, Positive; 3(/4(/4(= Splinter  
	Natural
	

	2SYMBOL 170 \f "Symbol"
	
	5
	4(
	Same
	same
	Natural
	

	2 NT
	
	
	
	(19) 20/21(possible 5M or 6 m)
	3SYMBOL 167 \f "Symbol"= puppet;3(/♥Transfer;3( =5(+4♥;4(-; 4 NT- inv
	Opener accepts with 2 cards, other suit with 3 cards and 3Nt with 4 cards
	

	3SYMBOL 167 \f "Symbol"
	
	6
	
	Preemptive
	Any suit F1R
	
	

	3SYMBOL 168 \f "Symbol"
	
	6
	
	same
	same
	
	

	3SYMBOL 169 \f "Symbol"
	
	6
	
	same
	same
	
	

	3SYMBOL 170 \f "Symbol"
	
	6
	
	same
	same
	SLAM APPROACH AND CONVENTIONS 



	3 NT
	SYMBOL 254 \f "Wingdings"
	7
	
	 Gambling – no side stoper 
	
	SYMBOL 183 \f "Symbol" 4 NT= BW – 5 aces and Q- For H 41/30 Other suit 30/41

After 4Nt asks for K – if Spades specific K 

	4SYMBOL 167 \f "Symbol"-SYMBOL 168 \f "Symbol"
	
	 8
	
	PRE
	
	SYMBOL 183 \f "Symbol" 5 NT =  1Ace + 1 Useful Void 
	

	4SYMBOL 169 \f "Symbol"-SYMBOL 170 \f "Symbol"
	
	7
	
	PRE
	
	SYMBOL 183 \f "Symbol" 6 X (under trump) = 2A +a void suit X
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	DOPI


